OMB CONTROL NO.				Т	TITLE OF INFORMATION COLLECTION REQUEST									DATE PREPARED		
0579-0453													December 3, 2021			
TYPE	OF R	EQUE	ST		Importation of Sheep, Goats, and Certain Other Ruminants									PUBLIC COMMENT DOCKET NO.		
	Fir	nal Rı	ıle											APHIS-2009-0095		
POIN	IT OF (	CONT	ACT											FEDERAL REGISTER NOTICE		
Al	exand	ra Ma	ıcKer	nzie										81 FR		
TELE	PHON	IE NO												FEDERAL REGISTER DATE		
(	301) 8	351-3	300 x	2										July 18	3, 2021	
	PART I - SUMMARY															
	TOTAL I	RESPO	NDENTS	S	TOTAL AN	NUAL RESPONSES	% ELECTRONIC	RES	SPONSES PER RESPONDENT		TOTAL I	BURDEN HOURS	HOURS PER RESPO	ONSE % SM.	ALL ENTITIES	
	•	7,356	;		6	3,865	1%		9		3	33,969	0.532		25%	
							F	PART	II - LIST OF ACTIV	/ITIES			1	'		
TYPE OF CHANGE	TYPE OF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE		RITY C., CFR, or fanual)	ACTIVITY DESCRIPTION (title, respondent type, and type of change if discretionary)		if	FORM NO.	FC	ORMAT	ESTIMATED TOTAL ANNUAL NUMBER OF RESPONDENTS or RECORDKEEPERS	ESTIMATED TOTAL ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE or ANNUAL HOURS PER RECORDKEEPER	ESTIMATED TOTAL ANNUAL BURDEN HOURS	
(A)	(B)	(C)	(D)		(E)	(F)		(G)		(H)	(1)	(J)	(K)	(L)		
	P1	×	I	9 CFR 93.404 98.5, 9	4(a)(2),	(for live animals	mport or in Transit Per , animal semen, anima poultry, or hatching eq	al	VS 17-129		DF-F, Permits	40	160	0.160	26	
	P1		I	93.40 <sup>4</sup> 98.35	4, 98.5,	Animal Semen,	mportation of Animals, Embryos, Birds, Poult atching (Business)	ry,	VS 17-29	PDF	F-F, ACE	50	100	1.000	100	
Е	P1	Х	1	93.404		Service Center	Contact (Business)		none	е	email	40	40	0.080	4	
E	P1		I	93.40 <sup>4</sup> 93.435 98.10	4; 5(a)(2);		Recipient Flock/Herd d Recordkeeping	-	none			40	40	0.160	7	
	P1		R	93.404 93.435 98.10	4; 5(a)(2);	Embryo/Oocyte Identification an (Business)	Recipient Flock - d Recordkeeping		none			40	40	2.000	80	

TYPE OF CHANGE	TYPE OF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	AUTHORITY (U.S.C., CFR, or Manual)	ACTIVITY DESCRIPTION (title, respondent type, and type of change if discretionary)	FORM NO.	FORMAT	ESTIMATED TOTAL ANNUAL NUMBER OF RESPONDENTS or RECORDKEEPERS	ESTIMATED TOTAL ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE or ANNUAL HOURS PER RECORDKEEPER	ESTIMATED TOTAL ANNUAL BURDEN HOURS
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	(L)
С	P1		I	93.405	Health Certificates for Sheep (Business)	none		624	33,696	0.500	16,848
	P1	Х	I	93.435	Permanent Country Mark, Seals, and Recordkeeping (Business)	none		6,649	6,649	0.300	1,995
	P1		R	93.435	Permanent Country Mark, Seals, and Recordkeeping (Business)	none		6,649	6,649	1.000	6,649
E	P1		I		Animals Imported for Immediate Slaughter (Business)	VS 17-33	VSPS	1	30	0.500	15
E	P1	Х	I	93.435	Sheep and Goats Imported to Designated/Approved Feedlots (Business)	VS 17-130	VSPS	1	30	0.500	15
	P1		R	93.435	Sheep and Goats Imported to Designated/Approved Feedlots (Business)	VS 17-130		15	15	1.000	15
E	P1	Х	I	93.404; 435 (c) (11)	Feedlot Compliance Agreement (Business)	none		1	1	0.500	1
	P1		R	93.404; 435 (c) (11)	Feedlot Compliance Agreement (Business)	none		1	1	1.000	1
E	S1	X	ı	93.404; 435 (c) (11)	Feedlot Compliance Agreement (State)	none		1	2	0.500	1

TYPE OF CHANGE	TYPE OF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	AUTHORITY (U.S.C., CFR, or Manual)	ACTIVITY DESCRIPTION (title, respondent type, and type of change if discretionary)	FORM NO.	FORMAT	ESTIMATED TOTAL ANNUAL NUMBER OF RESPONDENTS or RECORDKEEPERS	ESTIMATED TOTAL ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE or ANNUAL HOURS PER RECORDKEEPER	ESTIMATED TOTAL ANNUAL BURDEN HOURS
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	(L)
	P1		ı	93.404; 435	Request for Deviation (Business)	none		1	1	1.000	1
	P1		I		Permit for Movement of Restricted Animals (signature only) (Business)	VS 1-27		50	50	0.160	8
	P1		R		Permit for Movement of Restricted Animals (signature only) (Business)	VS 1-27		50	50	1.000	50
	P1		I	93.428	Written Request for Inspection, Other Services, and Dipping (Business)	VS 17-32	ACE, VSPS	15	75	0.120	9
	FG		I	92.2; 93.435(f)	Determination of Whether a Country or Region Conducts an Equivalent Classical Scrapie-Free Flock Certification Program (Foreign Government)	none		2	2	8.000	16
E	FG		I	93.435(c)(2), (c)(8); 94.15(b)	Seals - Foreign Governments	none		5	5	0.830	5
	P1		I	93.435(c)(2), (c)(8); 94.15(b)	Seals - Business (accredited veterinarians)	none		2	2	0.830	2
	P1		I	94.15	Application for United States Veterinary Permit for Importation and Transportation of Controlled Materials and Organisms and Vectors (Business)	VS 16-3	PDF-F, ePermits	74	74	1.000	74
	FG		1		Export Health Certificate: Gelatin - Foreign Government	none		12	480	0.500	240

TYPE OF CHANGE	TYPE OF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	AUTHORITY (U.S.C., CFR, or Manual)	ACTIVITY DESCRIPTION (title, respondent type, and type of change if discretionary)	FORM NO.		ESTIMATED TOTAL ANNUAL NUMBER OF RESPONDENTS OF RECORDKEEPERS	ANNUAL	ESTIMATED HOURS PER RESPONSE or ANNUAL HOURS PER RECORDKEEPER	ESTIMATED TOTAL ANNUAL BURDEN HOURS
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	(L)
Е	P1		ı	94.15	Import Permit for Controlled Materials or Transport of Organisms and Vectors (business, signature only)	VS 16-6A		73	73	0.083	7
	FG	х	I		Foreign Government Sanitary Certificate (Products) / Export Health Certificates (Foreign Government)	none		624	15,600	0.500	7,800